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\V ., Vo, Vo, Lo-Daten
V. =(Mo+ Lo)l2
Vioe=V /0,95

Vo, V., Mo, Lo
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Ur=( - 550) / 50
log Vo =—0,35[u)-u 2
logL o =-0,35[u)~Us7q*

___ logVo=-0,35[-Uss7]?

> /570 Adaptation: A, =557

maximum

log(V - m)=-0,02
V m=0,95
Schwelle
tz=0,00

V¢=0,04

o o-Daten
L =(Mo+ o)/2
Lio=L /0,81
Lio, Ly Mo, o

uy=(A - 550) / 50

log Vo =-0,35[u)-u 12
log 0=-0,35y-u ]2
Adaptation: A, =570

maximum

log(L - m)=-0,08
L m=0,81
Schwelle
tz=0,00

3 T Uy

700 A/nm

u=(A - 550) / 50
log =-0,35l)-u ]2
log o =-0,35u\—u 2
logL o=-0,35[Uy~Us7d

570 Adapt.: A =

L maximum
- log("~ -m)=-0,34
m=0,44
Schwelle
ta=0,00

3 u)

lo-Daten
=( ot C0)f2
o= /0,44

600 700 A/nm

uy=(\ - 550) / 50
log '0=-0,35[u\-u ]?
log o =-0,35u\—u 2

Adaptation: A =

maximum
m)=

Schwell’e

tz=0,00

3 u)

EG440-7N

600 700 A/nm

» Mg, Go, LO-Daten
=(“o+ Lo)2
o=\ 10,81
s Goi Lo

uy=(A — 550) / 50
log©o=-0,35uy-u 1?
logLo=-0,35[\—Us7q?

Adaptation: A =545
570

maximum
i o /2 \\e oo
| Schwelle
tz=0,00

3 Uy
700 A/nm

-1
500 600
u=(A — 550) / 50

log 0=-0,35[u)-u 1?
log©0=-0,35[y~u: ]2

log 0=-0,35l-u ]2

maximum

log("~ m)=—0,78
m=0,16

Schwelle

tg=0,00

Fd Ux
700 A/nm

uy=(\ — 550) / 50
log 0=-0,35[y-u ]2
log 0=-0,35[~u. ]
logLo=-0,35)~Us7d?
570 Adaptation: A =
L I maximum
® % log(" -m)=-0,3
m=0,44
Schwelle
ta=0,00

3w
700 A/nm

EG440-6A
lo-Daten
=( ot Lo)/2
=0 1044
(o]} LO

uy=(A — 550) / 50
log ©=-0,35[\-u ]?
logLo =—0,35[J)\—U57o]2

Adaptation: A | =

los 5 =0y

570
1,0

LD maximum

Schwelle
20,00

3 uy
700 A/nm

vV Vo,
VEs(

Vio=V
Vo, V.,

o Lo-Daten
ot Lo)2
/0,98

(o]} LO

u=(A — 550) / 50
logVo=-0,35[u)-u e
logLo=-0,35[i,~Us7q°
109V =—0,35)~Uss7>

ce7
[

22570 Adaptation: A, =557

fe,

L maximum
© 1og(V - m)=-0,02
V' n=0,98
Schwelle
ta=0,03
V4=0,01

S Uy

o o-Daten
ot 02

700 A/nm

uy=(A — 550) / 5(
logVo=-0,35[u)-u e
log 0=-0,35y-u ]2

Adaptation: A, =570

maximum

log(L -m)=-0,07
L m=0,84
Schwelle
tg=0,03

ux

700 Anm

u=(A — 550) / 50
log  =-0,35)—u ]
log©o=-0,35uy-u- ]
logL o =—0,35[U\~Us7d?
Adapt.: A =

maximum

log(“> - m)=-0,3
m=0,46

Schwelle

tz=0,03

S ()N

lo-Daten
=( ot C0)f2

lo =

/0,46

600 700 A/nm

uy=(\ - 550) / 50
log 0=-0,35u\-u ]?
log©o=-0,35uy-u- ]

Adaptation: A =

maximum

Schwellye
ta=0,03

S u)
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600 700 A/nm

Empfindlichkeiten logLMS-R17_Mbund Kombinationen; Schwellg20,00 (links) und 0,03 (recht
Y

; Start-Ausgabe

. Mo, o, Lo-Daten
=(“o*Lo)/2
o=\ 10,84
, Cor Lo

uy=(A — 550) / 5
log©o=-0,35[uy-u 1?
logLo=—0,35[y~Us7q?

Adaptation: A =545
570
/ \\Lo

maximum

log(V - m)==0,0
m=0,84

Schwelle

tg=0,03

S Ux
600 700 A/nm

u,=(A — 550) / 50
0=-0,35-u ]2
0=-0,350-u.]?
0=-0,35[-u J?
Adapt.: A =52(
maximum
log("~ m)=-0,71
m=0,19
Schwelle
0,03

2 Ux
700 A/nm

u=(A — 550) / 50
log 0=-0,35[5-u ]?
log o =-0,35[uy-u 2
logL o =—0,35[u)~Us7d?

570 Adaptation: A =

maximum

log(“ . m)=-0.3
m=0,46

Schwelle

tg=0,03

2 Ux
700 A/nm

EG441-6A
lo-Daten
=( ot Lo)/2
o= G/ 0,46
(o]} LO

u=(A - 550) / 50

log 6=-0,35[5-u ]2

logLo =—0,35y~Us7g]2
Adaptation: A | =

los ,

1,0

maximum

Schwelle
t5=0,03

A ux
700 A/nm
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